# Solutions of Second Order Singular Boundary Value Problems 

Bhupesh K. Tripathi<br>Department of mathematics, C.M.P. College, University of Allahabad, Allahabad - 220 011, India


#### Abstract

In this paper, we propose a simple method for solving the singular boundary value problems. The proposed method is tested on several problems and its results are very encouraging.


Key words:Singular boundary value problems • B-spline • Perturbation method • Analytic solution - Neighbourhood

## INTRODUCTION

The boundary value singular differential equations occur in many disciplines e.g. Mathematics, Physics, Engineering. They are basically used to model physical phenomena in astrophysics, electro-hydrodynamics, theory of thermal explosions [1], to name a few. In this paper, we will consider the following class of singular boundary value problems.

$$
\begin{equation*}
y^{\prime \prime}(x)+\frac{\alpha}{x} y^{\prime}(x)+y(x)=f(x) \quad 0<x \leq 1 \tag{1}
\end{equation*}
$$

subject to the boundary conditions

$$
y^{\prime}(0)=0, y(1)=A
$$

Where $f$ is analytical function of $x$ defined over $[0,1], \alpha \geq 0$ and $A$ is a real number.

These types of problems have been investigated by several researchers [2-8]. The common approach for solving such types of problems is to modify the original problem at singular point and then an appropriate method is applied for solving the resultant boundary value problem. The basic purpose to write the differential equation in this fashion is to handle singularity. Many scientists have discussed various methods for obtaining their numerical solutions that include B -splines [1,4-7], divided difference [8-11], Homotopy method [12-17], variational iteration method [18-22]. Details about B-splines can be found in [23-25]. We write Eqn. (1) as follows.

$$
\begin{equation*}
x y^{\prime \prime}(x)+\alpha y^{\prime}(x)+x y(x)=x f(x) \quad 0 \leq x \leq 1 \tag{2}
\end{equation*}
$$

Now this equation is defined for all values of $x$ in $[0,1]$. It is assumed that a unique solution $y(x)$ exists and is analytic in the given interval [25]. Taking $x \rightarrow 0$ gives $y^{\prime}(0)=0$, which is the first boundary condition. We derive relations for obtaining higher derivatives at some point $x=x_{0} \in[0,1]$. Without loss of generality and because of simplicity, we can take $x_{0}$ as zero. Then using Taylor series we may write the solution $y(x)$ as follows.

$$
\begin{align*}
& y(x)=y(0)+\frac{1}{1!} y^{\prime}(0) x+\frac{1}{2!} y^{\prime \prime}(0) x^{2}+  \tag{3}\\
& \frac{1}{3!} y^{\prime \prime \prime}(0) x^{3}+\ldots .+\frac{1}{n!} y^{(n)}(0) x^{n}+\ldots
\end{align*}
$$

In (3), some derivatives i.e. $y^{(i)}(0), i=1,2, \ldots$, may be functions of $y(0)$. Using other boundary condition, we obtain the value of unknown $y(0)$. The method is illustrated using some examples from the literature [1].

Numerical Results: In this section, we test the efficacy of our proposed method by applying it on the same problems as discussed in [1].

Problem 1: Consider the following Bessel's equation of order zero.

$$
\begin{equation*}
y^{\prime \prime}(x)+\frac{1}{x} y^{\prime}(x)+y(x)=0, \quad y^{\prime}(0)=0, \quad y(1)=1 \tag{4}
\end{equation*}
$$

Solution: We write (4) in the following form

$$
\begin{equation*}
x y^{\prime \prime}(x)+y^{\prime}(x)+x y(x)=0 \tag{5}
\end{equation*}
$$

Taking $x \rightarrow 0$ in (5), we get the first boundary condition, i.e. $y^{\prime}(0)=0$.
Differentiating (5) once, we have

$$
x y^{(3)}(x)+2 y^{\prime \prime}(x)+x y^{\prime}(x)+y(x)=0
$$

Putting $x=0$ gives

$$
\begin{equation*}
y^{\prime \prime}(0)=-\frac{y(0)}{2} \tag{6}
\end{equation*}
$$

Differentiating (5) twice, we have

$$
x y^{(4)}(x)+3 y^{(3)}(x)+x y^{\prime \prime}(x)+2 y^{\prime}(x)=0
$$

Putting $x=0$ in this equation, we get

$$
\begin{equation*}
3 y^{(3)}(0)+2 y^{\prime}(0)=0 \text { or } y^{(3)}(0)=0 \tag{7}
\end{equation*}
$$

Differentiating (5) thrice, we have

$$
x y^{(5)}(x)+4 y^{(4)}(x)+x y^{(3)}(x)+3 y^{\prime \prime}(x)=0
$$

Putting $x=0$ in this equation gives

$$
\begin{equation*}
y^{(4)}(0)=-\frac{3}{4} y^{\prime \prime}(0) \tag{8}
\end{equation*}
$$

In general, the nth derivative is given by

$$
y^{(n+1)}(0)=-\frac{n}{n+1} y^{(n-1)}(0)
$$

It may be written as

$$
\begin{equation*}
y^{(2 n)}(0)=\prod_{k=1}^{n}(-1)^{k} \frac{(2 k-1)}{(2 k)} y(0) \text { and } y^{(2 n-1)}(0)=0 \tag{9}
\end{equation*}
$$

We take the solution in the form of Taylor series at $x=0$, i.e.

$$
\begin{aligned}
& y(x)=y(0)+\frac{1}{1!} y^{\prime}(0) x+\frac{1}{2!} y^{\prime \prime}(0) x^{2}+ \\
& \frac{1}{3!} y^{\prime \prime \prime}(0) x^{3}+\ldots+\frac{1}{n!} y^{(n)}(0) x^{n}+\ldots
\end{aligned}
$$

Putting the values of different derivatives of $y(x)$ at $x=0$ in the above eqn. and taking $m$ terms, we have

$$
\begin{aligned}
& y(x)=y(0)-\frac{y(0)}{2!2} x^{2}+\frac{3 y(0)}{4!2.4} x^{4}-\frac{3.5 y(0)}{6!2.4 .6} x^{6} \\
& +\ldots+(-1)^{m} \frac{3.5 \ldots .(2 m-1) y(0)}{(2 m)!2.4 \ldots 2 m} x^{2 m}
\end{aligned}
$$

Simple manipulations give

$$
\begin{gather*}
y(x)=y(0)-\frac{y(0)}{2!2} x^{2}+\frac{y(0)}{(2.4)^{2}} x^{4}-\frac{y(0)}{(2.4 .6)^{2}} x^{6} \\
+\ldots+(-1)^{m} \frac{y(0)}{(m!)^{2} 2^{2 m}} x^{2 m} \\
y(x)=y(0) \sum_{k=0}^{m} \frac{(-1)^{k}}{(k!)^{2} 2^{2 k}} x^{2 k} \tag{10}
\end{gather*}
$$

Putting $x=1, y(1)=1$ in (10), we have
$y(0)=\frac{1}{\sum_{k=0}^{m} \frac{(-1)^{k}}{(k!)^{2} 2^{2 k}}}$
The solution of the problem is given by (10) and $y(0)$ is given by (11). It may be noted that in the limiting case (i.e. $m \rightarrow \infty$ ), $y(x)$ becomes the Bessel function of order zero, i.e. $y(x)=J_{0}(x)$ and $y(0)=J_{0}(1)$.

Problem 2: Consider the following equation.

$$
\begin{equation*}
y^{\prime \prime}(x)+\frac{1}{x} y^{\prime}(x)+y(x)=\frac{5}{4}+\frac{x^{2}}{16}, \quad y^{\prime}(0)=0, \quad y(1)=\frac{17}{16} \tag{12}
\end{equation*}
$$

Solution: We write the differential eqn. (12) in the following form

$$
\begin{equation*}
x y^{\prime \prime}(x)+y^{\prime}(x)+x y(x)=\frac{5 x}{4}+\frac{x^{3}}{16} \tag{13}
\end{equation*}
$$

Performing similar steps as in Problem 1, we get

$$
\begin{array}{r}
y^{\prime \prime}(0)=\frac{5}{8}-\frac{y(0)}{2} \\
y^{(3)}(0)=0 \tag{15}
\end{array}
$$

$$
\begin{gather*}
y^{(4)}(0)=\frac{6}{64}-\frac{3 y^{\prime \prime}(0)}{4} \text { or } y^{(4)}(0)=\frac{3}{8}(y(0)-1)  \tag{16}\\
y^{(5)}(0)=0 \tag{17}
\end{gather*}
$$

$$
\begin{equation*}
y^{(6)}(0)=-\frac{5}{6} y^{(4)}(0) \text { or } y^{(6)}(0)=\frac{15}{48}(y(0)-1) \tag{18}
\end{equation*}
$$

It may be noted that all odd derivatives at $x_{0}=0$ are multiple of $y^{\prime}(0)$ and even derivatives are multiple of $y(0)$. We write Taylor series of the solution about $x=0$, i.e.

$$
\begin{align*}
& y(x)=y(0)+\frac{1}{1!} y^{\prime}(0) x+\frac{1}{2!} y^{\prime \prime}(0) x^{2}+  \tag{19}\\
& \frac{1}{3!} y^{\prime \prime \prime}(0) x^{3}+\ldots .+\frac{1}{n!} y^{(n)}(0) x^{n}+\ldots
\end{align*}
$$

Taking few terms in (19) (say, 5) and noting $x=1$, $y(1)=17 / 16$, we have

$$
\frac{17}{16}=y(0)+\frac{1}{2!}\left(\frac{5}{8}-\frac{y(0)}{2}\right)+\frac{1}{4!} \frac{3}{8}(y(0)-1)
$$

It gives $y(0)=1$

In this way, we have $y(0)=1, y^{\prime \prime}(0)=1 / 8, y^{(4)}(0)=0$. In fact all higher derivatives, being multiple of $y^{(4)}(0)$, are zero. Thus, we have solution from (19) as follows

$$
\begin{equation*}
y(x)=1+\frac{1}{2!8} x^{2} . \tag{20}
\end{equation*}
$$

Problem 3: Consider the following problem

$$
\begin{align*}
& y^{\prime \prime}(x)+\frac{2}{x} y^{\prime}(x)-4 y(x)=-2  \tag{21}\\
& 0<x \leq 1, \quad y^{\prime}(0)=0, y(1)=5.5
\end{align*}
$$

Solution: We write (21) in the following form

$$
\begin{align*}
& x y^{\prime \prime}(x)+2 y^{\prime}(x)-4 x y(x)=-2 x \quad \text { Thus, the solution of the pro }  \tag{22}\\
& y(x)=y(0)+\frac{y^{\prime \prime}(0)}{2!} x^{2}+\frac{3.4 y^{\prime \prime}(0)}{4!5} x^{4}+\frac{3.4^{2} y^{\prime \prime}(0)}{6!7} x^{6}+\frac{3.4^{3} y^{\prime \prime}(0)}{8!9} x^{8}+\ldots \\
& y(x)=y(0)+\frac{3 y^{\prime \prime}(0)}{8 x}\left(\frac{(2 x)^{3}}{3!}+\frac{(2 x)^{5}}{5!}+\frac{(2 x)^{7}}{7!}+\frac{(2 x)^{7}}{9!}+. .\right) . \\
& y(x)=y(0)+\frac{3 y^{\prime \prime}(0) \sinh (2 x)}{8 x}-\frac{3 y^{\prime \prime}(0)}{4}=y(0)+\frac{(2 y(0)-1) \sinh (2 x)}{4 x}-\frac{2 y(0)-1}{2} . \\
& \text { or } y(x)=\frac{1}{2}+\frac{(2 y(0)-1) \sinh (2 x)}{4 x}
\end{align*}
$$

Putting $x=0$ in (22), we get the first boundary condition. Performing similar steps as in problem 1, we have

$$
\begin{gather*}
y^{(2)}(0)=\frac{4 y(0)-2}{3}  \tag{23}\\
y^{(3)}(0)=0  \tag{24}\\
y^{(4)}(0)=\frac{12 y^{\prime \prime}(0)}{5}  \tag{25}\\
y^{(5)}(0)=0  \tag{26}\\
y^{(6)}(0)=\frac{20 y^{(4)}(0)}{7} \tag{27}
\end{gather*}
$$

It may be noted that all odd derivatives are zero and even derivatives are given by the following recurrence formula

$$
y^{(k)}(0)=\frac{4(k-1) y^{(k-2)}(0)}{k+1}
$$

It can be written as
$y^{(k)}(0)=\frac{4^{(k-2) / 2}(4 y(0)-2)}{k+1}$, where $k$ is positive even
integer $\geq 2$
Thus, the solution of the problem is given by

We need to find the value of $y(0)$. Putting $x=1$ and noting $y(1)=5.5$, in (29), we have

$$
\frac{11}{2}=\frac{1}{2}+\frac{(2 y(0)-1) \sinh (2)}{4}
$$

It gives

$$
(2 y(0)-1)=\frac{20}{\sinh (2)}
$$

Using this value in (29), the solution is

$$
\begin{equation*}
y(x)==\frac{1}{2}+\frac{5 \sinh (2 x)}{\sinh (2)} \tag{30}
\end{equation*}
$$

This is same as analytical solution of the problem.

Problem 4: Consider the following problem

$$
\begin{equation*}
-y^{\prime \prime}(x)-\frac{2}{x} y^{\prime}(x)+\left(1-x^{2}\right) y(x)=x^{4}-2 x^{2}+7 \quad y^{\prime}(0)=0, \quad y(1)=0 \tag{31}
\end{equation*}
$$

Solution: We write (31) in the following form

$$
\begin{equation*}
x y^{\prime \prime}(x)+2 y^{\prime}(x)-x\left(1-x^{2}\right) y(x)=-x^{5}+3 x^{3}-7 x \tag{32}
\end{equation*}
$$

Performing similar steps as in problem 1, we have

$$
\begin{gather*}
y^{(2)}(0)=\frac{y(0)-7}{3}  \tag{33}\\
y^{(3)}(0)=0  \tag{34}\\
y^{(4)}(0)=\frac{3 y^{\prime \prime}(0)-6 y(0)+12}{5}=\frac{y(0)-7-6 y(0)+12}{5}=1-y(0)  \tag{35}\\
y^{(5)}(0)=0  \tag{36}\\
y^{(6)}(0)=\frac{5 y^{(4)}(0)-60 y^{(2)}(0)-120}{7} \\
y^{(6)}(0)=\frac{25(1-y(0))}{7} \tag{37}
\end{gather*}
$$

It may be noted that all odd derivatives are zero and even derivatives are given by the following recurrence formula $y^{(k)}(0)=\frac{(k-1) y^{(k-2)}(0)-(k-1)(k-2)(k-3) y^{(k-4)}(0)}{k+1}, \mathrm{k}$ is even integer $\geq 8$
It may be noted that all even derivatives except second order are multiple of $(y(0)-1)$.
The solution of the problem is given by

$$
\begin{align*}
& y(x)=y(0)+\frac{y(0)-7}{2!3} x^{2}+\frac{5(1-y(0))}{4!5} x^{4}+\frac{25(1-y(0))}{6!7} x^{6}+\frac{185(1-y(0))}{8!9} x^{8}+\ldots  \tag{39}\\
& \text { or } \quad y(x)=y(0)+\frac{y(0)-7}{2!3} x^{2}+(1-y(0))\left(\frac{5}{4!5} x^{4}+\frac{25}{6!7} x^{6}+\frac{185}{8!9} x^{8}+. .\right)
\end{align*}
$$

Putting $y(1)=0$ in (39), we have

$$
0=y(0)+\frac{y(0)-7}{2!3}+(1-y(0))\left(\frac{5}{4!5}+\frac{25}{6!7}+\frac{185}{8!9}+. .\right)
$$

It gives $y(0)=1$
Substituting the value of $y(0)$ in (39), we have the solution

$$
\begin{equation*}
y(x)=1-x^{2} . \tag{40}
\end{equation*}
$$

Problem 5: Consider the following problem

$$
\begin{equation*}
y^{\prime \prime}(x)+\frac{1}{x} y^{\prime}(x)=\left(\frac{8}{8-x^{2}}\right)^{2}, \quad y^{\prime}(0)=0, \quad y(1)=0 \tag{41}
\end{equation*}
$$

Solution: We write (41) in the following form

$$
\begin{equation*}
x\left(8-x^{2}\right)^{2} y^{\prime \prime}(x)+\left(8-x^{2}\right)^{2} y^{\prime}(x)=64 x \tag{42}
\end{equation*}
$$

Performing similar steps as in problem 1, we have

$$
\begin{align*}
& y^{(2)}(0)=\frac{1}{2}  \tag{43}\\
& y^{(3)}(0)=0  \tag{44}\\
& y^{(4)}(0)=\frac{3}{8}  \tag{45}\\
& y^{(5)}(0)=0  \tag{46}\\
& y^{(6)}(0)=\frac{12}{8} \tag{47}
\end{align*}
$$

It may be noted that all odd derivatives are zero and even derivatives are given by the following recurrence formula $y^{(k)}(0)=\frac{(k-1)(k-2) y^{(k-2)}(0)}{8}, \mathrm{k}$ is even integer $\geq 4$

Or

$$
\begin{equation*}
y^{(k)}(0)=\frac{(k-1)!y^{(2)}(0)}{8^{(k-2) / 2}} \tag{48}
\end{equation*}
$$

The solution of the problem is given by

Or

$$
y(x)=y(0)+\frac{y^{\prime \prime}(0)}{2} x^{2}+\frac{y^{\prime \prime}(0)}{4.8} x^{4}+\frac{y^{\prime \prime}(0)}{6.8^{2}} x^{6}+\frac{y^{\prime \prime}(0)}{8.8^{3}} x^{8}+\ldots
$$

$$
y(x)=y(0)+\frac{y^{\prime \prime}(0)}{2} x^{2}+4 y^{\prime \prime}(0)\left(\frac{\left(x^{2} / 8\right)^{2}}{2}+\frac{\left(x^{2} / 8\right)^{3}}{3}+\frac{\left(x^{2} / 8\right)^{4}}{4}+. .\right)
$$

Or

$$
y(x)=y(0)+\frac{y^{\prime \prime}(0)}{2} x^{2}+4 y^{\prime \prime}(0)\left(-\log \left(1-\frac{x^{2}}{8}\right)-\frac{x^{2}}{8}\right)
$$

Or

$$
\begin{equation*}
y(x)=y(0)-2 \log \left(1-\frac{x^{2}}{8}\right) \tag{49}
\end{equation*}
$$

Putting $y(1)=0$ in (49), we have

$$
y(0)=2 \log \left(\frac{7}{8}\right)
$$

Thus, solution is given by

$$
\begin{equation*}
y(x)=2 \log \left(\frac{7}{8}\right)-2 \log \left(1-\frac{x^{2}}{8}\right)=2 \log \left(\frac{7}{8-x^{2}}\right) \tag{40}
\end{equation*}
$$

## CONCLUSION

## REFERENCES

In this paper, we have discussed a very simple method that provides efficient solutions. In fact in limiting case, the solution matches the exact solution. Increasing the number of terms in the solution, numerical accuracy can be increased considerably. The method has been tested on five problems and results obtained match the exact solutions in limiting case.

1. Caglar, N. and H. Caglar, 2006. B-spline solution of singular boundary value problems, Applied mathematics and Computation, 182: 1509-1513.
2. Chawla, M.M. and C.P. Katti, 1984. A finite difference method for a class of singular two point boundary value problems, IMA J. Numer. Anal., 4: 457-466.
3. Golub, G.H. and J.M. Ortega, 1992. Scientific Computing and Differential Equations, Academic Press, New York and London,
4. Caglar, H., N. Caglar and K. Elfaituri, 2006. B-spline interpolation compared with finite element and finite volume methods which applied to two-point boundary value problems, Appl. Math. Comput., 175: 72-79.
5. Caglar, N. and H. Caglar, 2006. B-spline solution of singular boundary value problems, Applied mathematics and Computation, 182 : 1509-1513.
6. Ravi Kanth, A.S.V. and Y.N. Reddy, 2005. Cubic B-spline for a class of singular two-point boundary value problems, Applied mathematics and Comp., 170: 733-740.
7. Jalilian, R., 2009. Convergence Analysis of Spline Solutions for Special Nonlinear Two-Order Boundary Value Problems, World Applied Sciences Journal, 7(Special Issue of Applied Math)7: 19-24.
8. Ravikanth, A.S.V. and Y.N. Ready, 2003. A numerical method for singular boundary value problems via chebyshev economization, Applied mathematics and Computation, 146: 691-700.
9. Kumar, M., 2002. A fourth order finite difference method for a class of singular two-point boundary value problems Applied Math. and Comp., 133: 539-545.
10. Kumar, M., 2003. A difference scheme based on non-uniform mesh for singular two-point boundary value problems, Applied mathematics and Comp., 136: 281-288.
11. Aziz, T. and M. Kumar, 2001.A fourth-order finitedifference method based on non-uniform mesh for a class of singular two-point boundary value problems, J. Comput. Appl. Math., 136: 337-342.
12. Jamet, P., 1970. On the convergence of finite difference approximations to one dimensional singular boundary value problems, Numer. Math., 14: 355-378.
13. Yildirim, A., 2009. Alev Kelleci, Numerical Simulation of the Jaulent-miodek Equation by He's Homotopy Perturbation Method, World Applied Sciences Journal 7 (Special Issue for Applied Math)7: 84-89.
14. Fereidoon, A., M.R. Davoudabadi, H. Yaghoobi and D.D. Ganji, 2010. Application of Homotopy Perturbation Method and Differntial Transformation Method to determine Dispalcement of a Damped System with Nonlinear Spring, World Applied Science Journal, 9(6): 681-688.
15. Neyrameh, A., H. Neyrameh, M. Ebrahimi and A. Roozi, 2010. Analytic Solution Diffusivity Equation in Radial Form, World Applied Science Journal, 10(7): 764-768.
16. Mohyud-Din, S.T., M.A. Noor and K.I. Noor, 2009. He's homotopy perturbation method for Solving second-order singular problems using He's polynomials, World Applied Sciences J., 6(6): 769-775.
17. Mohyud-Din, S.T., M.A. Noor and K.I. Noor, 2009. Solving second-order singular problems using He's polynomials. World Appl. Sci. J., 6 (6): 769-775.
18. Jafari, M., M.M. Hosseini and S.T. Mohyud-Din, 2010. Solution of singular Boundary value problems of Emden-Fowler Type by the Variational Iteration Method, World Applied Science Journal, 20: 154-160.
19. Mohyud-Din, S.T., 2009. Variational Iteration method for Evolution Equations, World Applied Science Journal, 7: 103-108.
20. Noor, M.A. and S.T. Mohyud-Din, 2008. Modified Variational Iteration Method for Goursat and Laplace Problems, World Applied Sciences Journal, 4(4): 487-498.
21. Mohyud-Din, S.T., M.A. Noor and K.I. Noor, 2009. Modified Variational Iteration Method for Solving Sine-Gordon Equations, World Applied Sciences Journal, 6(7): 999-1004.
22. Mohyud-Din, S.T., M.A. Noor and K.I. Noor, 2009. Variational iteration method for Flieral-Petviashivili iteration method for solving higher-order nonlinear equations using He's polynomials and boundary value problems using He's polynomials and Pade'approximants, World Applied Sciences Journal, 6(9): 1298-1303.
23. Ahlberg, J.H., E.N. Nilson and J.L. Walsh, 1967. The theory of splines and their applications, academic press, New York,
24. De Boor, C., 1978. A practical guide to Splines, Springer Verlag, New York,
25. Russell, R.D. and L.F. Shampine, 1975. Numerical methods for singular boundary value problems, SIAM J. Numer. Anal., 12: 13-36.
